ﬂh Rewriting Multiplication Problems Name:

Express each set asa multiplication problem. Answers
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ﬂh Rewriting Multiplication Problems Name: Answer Key

Express each set asa multiplication problem. Answers
Ex)

VY oo Ex. 2%X6=12

® o [ )

1 9x10=90

) (0o0) (0o) (oo0) (00) (0o) (oo0) (00) (00) (00 , 2%3=6

0 0 0 0 0 0 0 0 00 00 00 00 00

0 0 0 0 0 0 0 0 00 00 00 00 00

00 00 00 ool |oo| |oo| |oo| |00 |00 3. 4x10=40

00 00 00 o o) (o o) (oo] |oo] (oo] oo

_— — x8=24
2[4+ [+ —

<4 <4 5 Ox5=45

— — 6. 2x7=14
3 [0 [0 (@0 (00

ool ool oo |0

X o

o9 ool oo |loo 7. _6x10=60

ool oo oo |loo©

oo loo oo |loo 8 Ox2=18
4 (ool (ool [0o0

ool ool |oo

ool ool |loo

ool ool |oo
5 [ A A A A A A A A A

>
>
>
>
>
>

A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A

6) ool (oo

ool oo
ool oo
L9 9
7) (% %) (% % [& % [* %] [ %] [* %
* k| [w x| [wow| x| (% ox| % %
* k| [w x| [wow| x| (% ox| % %
x| [wow] [wow| x| |w x| %o
%] % ow] |wow] |wow] |wow] |w o
8)
HipEinNE e ..
OO (O (&) () (&) ) ey ey e

1-8 |88|75|63]|50]38]25[13] 0 |

[ M ath ] www.CommonCoreSheets.com




	Worksheet
	Answer Key

